) d@uivanand auzIneiaansiazialulad anninerdemalulags1vuenansamn

Tutufinuan1sneassy 5
1399 MsuIAMNITNYasEUNNImAnlanTukusEAU

AVIINITNARDE L oo sner e X B AN
2. e AU NAUTcovvrveee
B e AU NAUTcovvrveee
AR ARk VZ2 L W BUT/TDD e
PINITNADDL TUN oo BADU. e, I T
MOUR 1 VAR ... 58U (VAAINLBYTBU)
= 4 x107 Tesla—m/ A
N m
v 4 | wuideauu | nszud 1, NI B
asan | ¢ tan O B="0 M| Be = ©)
0 (99en) I (mA) 2a tan @
1 10
2 20
3 30
q a0
5 50
6 60

65




Y awnivildnd auzineimaniwazmalulag uniinenasmalulagsngusnanganm

ABUN 2 VAR oo,

59U (VPAINUINTBU)

= 47 %107 Tesla—m/ A

Hy

[ m
¢4 | wdidoauu | nszua 14, NI
AsIn | tan 0 B=20 (M| Be = M

0 (s) | I (mA) an 2a tan 0
1 10
2 20
3 30
q a0
5 50
6 60
......... S o] e,

66

91915UHAIVANNTNAGDN




